

ON THE GENERALIZED HYERS-ULAM-RASSIAS
STABILITY OF A QUADRATIC FUNCTIONAL EQUATION

K. Ravi^{1 §}, M. Arun Kumar²

^{1,2}Department of Mathematics

Sacred Heart College

Tirupattur, 635 601, TamilNadu, INDIA

¹e-mail: shckravi@yahoo.co.in

²e-mail: annarun2002@yahoo.co.in

Abstract: In this paper, the authors investigate the Hyers-Ulam-Rassias stability of a quadratic functional equation

$$f(x+y+z) + f(x-y+z) + f(x+y-z) + f(-x+y+z) = 4f(x) + 4f(y) + 4f(z)$$

and prove its stability on bounded domain.

AMS Subject Classification: 39B52, 39B72

Key Words: Hyers-Ulam-Rassias stability, quadratic functional equations

1. Introduction

S.M. Ulam [21] in 1940 raised the following stability problem: Let E_1 be a group and let E_2 be a metric group with a metric $d(.,.)$. Given $\epsilon > 0$, does there exist a $\delta > 0$ such that if a function $h : E_1 \rightarrow E_2$ satisfies the inequality $d(h(xy), h(x)h(y)) < \delta$ for all $x, y \in E_1$, then there exists a homomorphism $H : E_1 \rightarrow E_2$ with $d(h(x), H(x)) < \epsilon$ for all $x \in E_1$?

In 1941, Hyers [8] proved that if $f : E_1 \rightarrow E_2$ is a mapping satisfying

$$\|f(x+y) - f(x) - f(y)\| \leq \delta,$$

for all $x, y \in E_1$, where E_1 and E_2 are Banach spaces and δ is a given positive number, then there exists a unique additive mapping $T : E_1 \rightarrow E_2$ such that

Received: April 13, 2006

© 2006, Academic Publications Ltd.

§Correspondence author

$$\|f(x) - T(x)\| \leq \delta,$$

for all $x \in E_1$. In addition, he also proved that if $f(tx)$ is continuous in the real variable t for any fixed $x \in E_1$, then T is linear. Th.M. Rassias [18] and Gajda [7] showed some generalizations of the result of Hyers in the following ways. Let $f : E_1 \rightarrow E_2$ is a mapping satisfying

$$\|f(x+y) - f(x) - f(y)\| \leq \theta (\|x\|^p + \|y\|^p),$$

for all $x, y \in E_1$ where $\theta \geq 0$ and $p \neq 1$. Suppose $f(tx)$ is continuous in t for each fixed $x \in E_1$, then there is a unique linear mapping $T : E_1 \rightarrow E_2$ such that

$$\|f(x) - T(x)\| \leq \frac{k\theta}{\|k^p - k\|} \|x\|^p$$

for all $x \in E_1$, and any given integer $k > 1$.

Further more, in 1993 Rassias and Smerl [17] proved a more generalized form of the above result. Since then, the stability problems of functional equations have been extensively investigated by a number of mathematicians, one can refer to [2], [3], [4], [5], [13], [14], [18], [19].

The stability of the quadratic functional equations is discussed by few authors [10,11]. The equations

$$f(x+y) + f(x-y) = 2f(x) + 2f(y), \quad (1)$$

$$f(x+y+z) + f(x) + f(y) + f(z) = f(x+y) + f(y+z) + f(x+z), \quad (2)$$

$$f(x-y-z) + f(x) + f(y) + f(z) = f(x-y) + f(y+z) + f(z-x) \quad (3)$$

are called quadratic functional equations because they satisfies the quadratic function $f(x) = cx^2(x \in R)$. Recently, J.H. Bae investigated the stability of the N -dimensional quadratic functional equation

$$f\left(\sum_{i=1}^n x_i\right) + \sum_{1 \leq i < j \leq n} f(x_i - x_j) = n \sum_{i=1}^n f(x_i), \quad (n \geq 2).$$

For further information on the stability of the quadratic functional equation, one may refer to [19]. In this paper, the authors investigated the generalized Hyers-Ulam-Rassias stability of a quadratic functional equation

$$\begin{aligned} f(x+y+z) + f(x-y+z) + f(x+y-z) + f(-x+y+z) \\ = 4f(x) + 4f(y) + 4f(z), \end{aligned} \quad (4)$$

which is some what different from the equations appeared in [3].

2. Main Results

In this section, we denote N be the set of positive integers and R be the set of real numbers and let B_1 be a normed space and B_2 be a Banach space.

We define a function

$$\psi : B_1 \times B_1 \times B_1 \rightarrow [0, \infty)$$

be such that either

$$\phi_i(x, y, z) = \sum_{k=0}^{\infty} \frac{i}{i^{2k}} \psi(i^k x, i^k y, i^k z) < \infty, \quad \forall x, y, z \in B_1, \tag{5}$$

or

$$\tilde{\phi}_i(x, y, z) = \sum_{k=0}^{\infty} i^{2(k+1)} \psi\left(\frac{i}{i^{k+1}}x, \frac{i}{i^{k+1}}y, \frac{i}{i^{k+1}}z\right) < \infty, \quad \forall x, y, z \in B_1. \tag{6}$$

We denote

$$Df(x, y, z) = f(x + y + z) + f(x - y + z) + f(x + y - z) + f(-x + y + z) - 4f(x) - 4f(y) - 4f(z)$$

be such that

$$\|Df(x, y, z)\| \leq \psi(x, y, z), \quad \forall x, y, z \in B_1 \tag{7}$$

and $f : B_1 \rightarrow B_2$. We also define a real sequence b_k be such that $b_1 = \frac{1}{2}$, $b_2 = 1$ and $b_k = 2b_{k-1} + b_{k-2}$ ($k \geq 3$). Now we are ready to prove the generalized Hyers-Ulam-Rassias stability of the quadratic functional equation of the form (4). Before proving our main theorem, we now prove the following lemma, which will be useful for our discussions.

Lemma 2.1. *With respect to the above assumptions:*

(i) *If f is odd function then*

$$\left\| \frac{1}{i^{2n}} f(i^n x) \right\| \leq \frac{1}{2i^{2n}} \psi(0, i^n x, 0) \tag{8}$$

is true for $x \in B_1$.

(ii) *If f is even function then*

$$\left\| \frac{1}{i^{2n}} f(i^n x) - f(x) \right\| \leq \frac{1}{i^2} \sum_{j=1}^{i-1} b_j \sum_{k=0}^{n-1} \frac{1}{i^{2k}} \psi((i-j)i^k x, i^k x, 0) \tag{9}$$

is true for $x \in B_1$ and $f(0) = 0$ holds good.

Proof. Case (i). Taking f is odd function and substitute $x = 0, y = x, z = 0$ in (7) we get

$$\| -f(x) + f(-x) \| \leq \psi(0, x, 0)$$

which is

$$\| 2f(x) \| \leq \psi(0, x, 0), \quad \forall x \in B_1. \quad (10)$$

Now replacing x by ix in the equation (10) and divide by $2i^2$ we arrive an expression and applying induction on that we obtain

$$\left\| \frac{1}{i^{2n}} f(i^n x) \right\| \leq \frac{1}{2i^{2n}} \psi(0, i^n x, 0). \quad (11)$$

Case (ii). When f is even function, replacing x, y, z by $kx, x, 0$ in (7) we obtain

$$\| f(kx + x) + f(kx - x) - 2f(kx) - 2f(x) \| \leq \frac{1}{2} \psi(kx, x, 0) \quad (12)$$

for all integers $k, 2 \leq k \leq i$. Now consider

$$\begin{aligned} & \| f(ix) - i^2 f(x) \| \\ = & \| 2f((i-1)x) - 2(i-1)^2 f(x) - f((i-2)x) + (i-2)^2 f(x) \\ & + f(ix) + f((i-2)x) - 2f((i-1)x) - 2f(x) \| \\ \leq & \| 2f((i-1)x) - 2(i-1)^2 f(x) \| + \| f((i-2)x) - (i-2)^2 f(x) \| \\ & + \| f(ix) + f((i-2)x) - 2f((i-1)x) - 2f(x) \| \\ \leq & \sum_{k=1}^{i-2} 2b_k \psi((i-1-k)x, x, 0) + \sum_{k=1}^{i-3} b_k \psi((i-k)x, ix, 0) \\ & + \frac{1}{2} \psi((i-1)x, x, 0) \\ \leq & \sum_{k=1}^{i-1} 2b_{k-1} \psi((i-1-k)x, x, 0) + \sum_{k=3}^{i-1} b_{k-2} \psi((i-k)x, ix, 0) \\ & + \frac{1}{2} \psi((i-1)x, x, 0) \leq \sum_{j=1}^{i-1} b_j \psi((i-j)x, x, 0). \end{aligned} \quad (13)$$

Equation (13) shows that the induction for $n = 1$ on equation (9) is true. Now we assume the result (9) is true for n . We will prove the result (9) for $n + 1$. For this, consider

$$\left\| \frac{1}{i^{2(n+1)}} f(i^{n+1} x) - f(x) \right\|$$

$$\begin{aligned}
 &= \left\| \frac{1}{i^{2(n+1)}} f(i^{n+1}x) - \frac{1}{i^{2n}} f(i^n x) + \frac{1}{i^{2n}} f(i^n x) - f(x) \right\| \\
 &\leq \frac{1}{i^{2n}} \left\| \frac{1}{i^2} f(ii^n x) - f(i^n x) \right\| + \left\| \frac{1}{i^{2n}} f(i^n x) - f(x) \right\| \\
 &\leq \frac{1}{i^{2n}} \sum_{j=1}^{i-1} b_j \psi((i-j)i^n x, i^n x, 0) + \frac{1}{i^2} \sum_{j=1}^{i-1} b_j \sum_{k=0}^{n-1} \frac{1}{i^{2k}} \psi((i-j)i^k x, i^k x, 0) \\
 &= \frac{1}{i^2} \sum_{j=1}^{i-1} b_j \sum_{k=0}^n \frac{1}{i^{2k}} \psi((i-j)i^k x, i^k x, 0).
 \end{aligned}$$

This proves that the equation (9) is true for $n + 1$. By induction, the proof of this Lemma completes. \square

Theorem 2.2. *If a function $f : B_1 \rightarrow B_2$ satisfies the equation (7) and $f(0) = 0$. Then there exists a unique quadratic function $Q : B_1 \rightarrow B_2$ satisfying*

$$(i) \quad \|Q(x) - f(x)\| \leq \frac{1}{i^2} \sum_{j=1}^{i-1} b_j \phi_i((i-j)x, x, 0) + \frac{1}{2} \psi(0, x, 0) \quad (14)$$

when (5) is true, or

$$(ii) \quad \|Q(x) - f(x)\| \leq \frac{1}{i^2} \sum_{j=1}^{i-1} b_j \tilde{\phi}_i((i-j)x, x, 0) + \frac{1}{2} \psi(0, x, 0) \quad (15)$$

when (6) is true. If f is measurable or $f(tx)$ is continuous in $t \in R$ for each fixed $x \in B_1$, then Q satisfies

$$Q(tx) = t^2 Q(x), \quad x \in B_1, \quad t \in R. \quad (16)$$

Proof. Assume (5) is true and if f is even function, then from (9)

$$\begin{aligned}
 \lim_{n \rightarrow \infty} \left\| \frac{1}{i^{2n}} f(i^n x) - f(x) \right\| &\leq \lim_{n \rightarrow \infty} \frac{1}{i^2} \sum_{j=1}^{i-1} b_j \sum_{k=0}^{n-1} \frac{1}{i^{2k}} \psi((i-j)i^k x, i^k x, 0) \\
 &\leq \frac{1}{i^2} \sum_{j=1}^{i-1} b_j \phi_i((i-j)x, x, 0).
 \end{aligned} \quad (17)$$

We will now prove $\left\{ \frac{1}{i^{2n}} f(i^n x) \right\}$ is a cauchy sequence. Let m, n be positive integers such that $n > m > 0$. Then using (17) in (5) we arrive

$$\begin{aligned}
& \left\| \frac{1}{i^{2n}} f(i^n x) - \frac{1}{i^{2m}} f(i^m x) \right\| = \left\| \frac{1}{i^{2n-2m+2m}} f(i^{n+m-m} x) - \frac{1}{i^{2m}} f(i^m x) \right\| \\
& \leq \frac{1}{i^{2m}} \left\| \frac{1}{i^{2(n-m)}} f(i^{(n-m)} i^m x) - f(i^m x) \right\| \leq \frac{1}{i^{2m}} \frac{1}{i^2} \sum_{j=1}^{i-1} b_j \sum_{k=0}^{n-m-1} \frac{1}{i^{2k}} \\
& \times \psi((i-j)i^k i^m x, i^k i^m x, 0) \leq \frac{1}{i^2} \sum_{j=1}^{i-1} b_j \sum_{k=m}^{n-1} \frac{1}{i^{2k}} \psi((i-j)i^k x, i^k x, 0). \quad (18)
\end{aligned}$$

The R.H.S of (18) $\rightarrow 0$ as $m \rightarrow \infty$. Also B_2 is a Banach space and therefore we define

$$Q(x) = \lim_{n \rightarrow \infty} \frac{1}{i^{2n}} f(i^n x), \quad \forall x \in B_1. \quad (19)$$

Then using the definition of $Q(x)$ and (17), we obtain

$$\|Q(x) - f(x)\| \leq \frac{1}{i^2} \sum_{j=1}^{i-1} b_j \phi_i((i-j)x, x, 0). \quad (20)$$

Suppose f if an odd function, then from (18) we have

$$\lim_{n \rightarrow \infty} \frac{1}{i^{2n}} f(i^n x) = 0, \quad \forall x \in B_1.$$

Then by (10)

$$\|Q(x) - f(x)\| = \|f(x)\| \leq \frac{1}{2} \psi(0, x, 0). \quad (21)$$

Now we write $f = f_{\text{even}} + f_{\text{odd}}$ and therefore

$$\begin{aligned}
\|Q(x) - f(x)\| &= \|Q(x) - f_{\text{even}}(x)\| + \|f_{\text{odd}}(x)\| \\
&\leq \frac{1}{i^2} \sum_{j=1}^{i-1} b_j \phi_i((i-j)x, x, 0) + \frac{1}{2} \psi(0, x, 0)
\end{aligned}$$

this proves (14).

Now replacing x, y, z by $i^n x, i^n y, i^n z$ in (4) and dividing the resultant expression by i^{2n} and using (5), we get

$$\begin{aligned}
& \left\| \frac{1}{i^{2n}} f(i^n(x+y+z)) + \frac{1}{i^{2n}} f(i^n(x-y+z)) + \frac{1}{i^{2n}} f(i^n(x+y-z)) \right. \\
& \left. + \frac{1}{i^{2n}} f(i^n(-x+y+z)) - \frac{1}{i^{2n}} 4f(i^n x) - \frac{1}{i^{2n}} 4f(i^n y) - \frac{1}{i^{2n}} 4f(i^n z) \right\|
\end{aligned}$$

$$\leq \frac{1}{i^{2n}} \psi(i^n x, i^n y, i^n z). \quad (22)$$

Taking $\lim_{n \rightarrow \infty}$ on both sides of (22) and using (19) we obtain

$$\begin{aligned} & \|Q(x + y + z) + Q(x - y + z) + Q(x + y - z) + Q(-x + y + z) \\ & \quad - 4Q(x) - 4Q(y) - 4Q(z)\| \leq 0, \end{aligned}$$

which gives raise to

$$\begin{aligned} & Q(x + y + z) + Q(x - y + z) + Q(x + y - z) + Q(-x + y + z) \\ & \quad = 4Q(x) + 4Q(y) + 4Q(z), \end{aligned}$$

from which we can prove Q is a quadratic function.

Next we prove the uniqueness, for this, suppose $Q' : B_1 \rightarrow B_2$ be another quadratic function satisfying (14), then Q and Q' satisfying

$$Q(i^n x) = i^{2n} Q(x) \quad \text{and} \quad Q'(i^n x) = i^{2n} Q'(x) \quad (23)$$

for any $n \in N$. Then using (21), (19) and (5), we obtain

$$\begin{aligned} \|Q(x) - Q'(x)\| &= \frac{1}{i^{2n}} \|Q(i^n x) - Q'(i^n x)\| \\ &= \frac{1}{i^{2n}} \{ \|Q(i^n x) - f(i^n x)\| + \|f(i^n x) - Q'(i^n x)\| \} \\ &\leq \frac{1}{i^{2n}} \left\{ \frac{1}{i^2} \sum_{j=1}^{i-1} b_j \phi_i((i-j)x, x, 0) + \frac{1}{2} \psi(0, x, 0) \right\} \rightarrow 0 \text{ as } n \rightarrow \infty, \end{aligned}$$

which proves $Q(x) = Q'(x), \forall x \in B_1$. The last part of the theorem is true by using the result of Czerwik [6]. In the similar fashion we can prove the theorem for the function $\tilde{\phi}_i(x, y, z)$ when (6) is true. \square

Theorem 2.3. *If a function $f : B_1 \rightarrow B_2$ satisfies the inequality*

$$\|Df(x, y, z)\| \leq \epsilon, \quad \forall x, y, z \in B_1, \quad (24)$$

then there exists a unique quadratic function $Q : B_1 \rightarrow B_2$ satisfying

$$\|Q(x) - f(x)\| \leq \frac{2}{3} \epsilon, \quad \forall x \in B_1. \quad (25)$$

If f is measurable or $f(tx)$ is continuous in $t \in R$ for each fixed $x \in B_1$, then Q satisfies (16) for all $x \in B_1, t \in R$.

Proof. We take $\psi(x, y, z) = \epsilon$, then using equation (5) for $i = 2$. We obtain

$$\phi_2(x, y, z) = \sum_{k=0}^{\infty} \frac{i}{2^{2k}} \psi(2^k x, 2^k y, 2^k z). \quad (26)$$

Now using Theorem 2.2 then there exists a unique quadratic function $Q : B_1 \rightarrow B_2$ such that

$$\|Q(x) - f(x)\| \leq \frac{1}{2^2} b_1 \phi_2(x, x, 0) + \frac{1}{2} \psi(0, x, 0). \quad (27)$$

Using $b_1 = \frac{1}{2}$ and $i = 2$ in equation (14) and then applying (26) in to (27), we obtain

$$\|Q(x) - f(x)\| \leq \frac{1}{2^3} \sum_{k=0}^{\infty} \frac{1}{2^{2k}} \epsilon + \frac{1}{2} \epsilon \leq \frac{\epsilon}{6} + \frac{\epsilon}{2} = \frac{2\epsilon}{3}, \quad \forall x \in B_1. \quad \square$$

3. Hyers-Ulam-Rassias Stability of Equation (4) on a Bounded Domain

In this we denote n be a positive integer, $r > 0$, a constant and B be a Banach space and $I^n = [-r, r]$.

Theorem 3.1. *If a function $f : I^n \rightarrow B$ satisfies (24) for all $x, y, z \in I^n$ with $x + y + z, x - y + z, x + y - z, -x + y + z \in I^n$ then there exists a unique quadratic function $Q : R^n \rightarrow B$ such that*

$$\|Q(x) - f(x)\| \leq \frac{7}{4} (2914n^2 + 1872n + 334) \epsilon, \quad \forall x \in I^n. \quad (28)$$

Proof. Setting $x = y = z = 0$ in (24), we obtain

$$\|f(0)\| \leq \frac{\epsilon}{8}. \quad (29)$$

Now replacing x by $-x, y$ by 0 and z by 0 in (24), we obtain

$$\|f(x) - f(-x) - 8f(0)\| \leq \epsilon. \quad (30)$$

Using (29) and (30), we obtain

$$\|f(x) - f(-x)\| \leq 2\epsilon. \quad (31)$$

Again letting $z = 0$ in (24) and dividing by 2, we arrive

$$\|f(x+y) + \frac{1}{2}f(x-y) + \frac{1}{2}f(-x+y) - 2f(x) - 2f(y) - 2f(0)\| \leq \frac{\epsilon}{2}. \quad (32)$$

Therefore, using (29), (31) and (32), we obtain

$$\begin{aligned} & \|f(x+y) + f(x-y) - 2f(x) - 2f(y)\| \\ & \leq \|f(x+y) + \frac{1}{2}f(x-y) + \frac{1}{2}f(-x+y) - 2f(x) - 2f(y) - 2f(0)\| \\ & \quad + \frac{1}{2}\|f(x-y) - f(-x+y)\| + \|2f(0)\| \leq \frac{\epsilon}{2} + \epsilon + \frac{\epsilon}{4} = \frac{7\epsilon}{4}. \quad (33) \end{aligned}$$

Applying the result in the Theorem 3.1 [3], then there exists a unique quadratic function $Q : R^n \rightarrow B_1$ satisfying

$$\|Q(x) - f(x)\| \leq \frac{7}{4}(2914n^2 + 1872n + 334)\epsilon$$

and it holds for any $x \in I^n$. □

References

- [1] J. Aczel, J. Dhombres, *Functional Equations in Several Variables*, Cambridge Univ. Press (1989).
- [2] J.H. Bae, On the stability of N-Dimensional quadratic functional equations, *Comm. Kor. Math. Soc.*, **16**, No. 1 (2001), 103-113.
- [3] Y.H. Bae, K.W. Jun, A generalization of the Hyer-Ulam-Rassias stability of a quadratic functional equation, *Bull. Kor. Math. Soc.*, **38** (2001), 325-336.
- [4] C. Borelli, G.L. Forti, On a general Hyers-Ulam stability result, *Internet. J. Math. Math. Sci.*, **18** (1995).
- [5] P.W. Cholewa, Remarks on the stability of functional equations, *Aequationes Math.*, **27** (1984), 76-86.
- [6] S. Czerwik, On the stability of the quadratic mappings in normed spaces, *Abh. Math. Sem. Univ Hamburg*, **62** (1992), 59-64.
- [7] Z. Gajda, On the stability of additive mappings, *Internet. J. Math. Math. Sci.*, **14** (1991), 431-434.

- [8] D.H. Hyers, On the stability of the linear functional equation, *Proc. Nat. Acad. Sci., USA*, **27** (1941), 222-224.
- [9] K.W. Jun, D.S. Shin, B.D. Kim, On Hyers-Ulam-Rassias stability of the pexider equation, *J. Math. Anal. Appl.*, **239** (1999), 20-29.
- [10] S.M. Jung, On the Hyers-Ulam stability of the functional equations that have the quadratic property, *J. Math. Anal. Appl.*, **222** (1998), 126-137.
- [11] S.M. Jung, On the Hyers-Ulam-Rassias stability of the quadratic functional equations, *J. Math. Anal. Appl.*, **232** (1998), 384-339.
- [12] S.M. Jung, B. Kim, On the stability of the functional equation on bounded domains, *Abh. Math. Sem Hamburg*, **64** (1999), 293-308.
- [13] Pl. Kannappan, Quadratic functional equation and inner product spaces, *Results Math.*, **27** (1995), 368-372.
- [14] Y.H. Lee, K.W. Jun, On the stability of approximately additive mappings, *Proc. Amer. Math. Soc.*, **128** (2000), 1361-1369.
- [15] Y.H. Lee, K.W. Jun, A generalization of the Hyers-Ulam-Rassias stability of Jensen's equation, *J. Math. Anal. Appl.*, **238** (1990), 325-336.
- [16] J.M. Rassias, On the stability of the Euler-Lagrange functional equation, *Chinese J. Math.*, **20** (1992), 185-190.
- [17] Th.M. Rassias, P. Semrl, Hyers-Ulam -Rassias stability of linear mappings, *J. Math. Anal. Appl.*, **173** (1993), 325-338.
- [18] Th.M. Rassias, On the stability of the linear mapping in Banach spaces, *Proc. Amer. Math. Soc.*, **72** (1978), 297-300.
- [19] Th.M. Rassias, On the stability of the quadratic functional equation and its applications, *Studia Univ. Babeş-Bolyai*, To Appear.
- [20] F. Skof, Proprieta locali e approssimazione di iperoperatori, *Rend. Sem. Mat. Fis. Milano*, **53** (1983), 113-129.
- [21] S.M. Ulam, *Problems in Modern Mathematics*, Rend. Chap.VI, Wiley, New York (1960).